2017—2018 =4 FHIHIR %
tER HFE SEEER
—. E&FEB (FRE3 4y, 3045
1D 2C 3B 4D 5A 6A 7B 8C 9B 10C
Z. E=T@ (R3S, #1550
11.25 12, W20, 2B 13.1500  14.28  15.54 5% 14 B¢ 4.

= REB (5547

16. (6 §j\) ﬁﬁ (1) ﬁﬂ@lﬁﬁﬂ?: .................................... gﬁj\
(2) ﬁDZﬁﬁﬂ?: ............................................. 6§:}’
K1 & 2

17. (743 fi#: %(_4x2+2x—8)—(%X—2)

:—x2+lx—2—1x+2 .............. 3%
2 2
=X 5%)
we 1 1 1
Bx=2HBF, JHERZ (D)2 =D, e 74
> ) =-]
18. (749 fi#: WIET=, 15
2°X 500+ [(+1.5) X1000]+[(—4) X1000] + [— (—2) X500] «rereeeesee 35
=8x500+1500-4000+1000
:2500 (f[]) .............................. 6§J\
//‘§: /\%%%mﬁT’mﬁngmoﬁ_ .............................. 753\
19. (8 ﬁ) ﬁg (1) 60, 72; ..................... 4§j\
o . HhEFETSEEERENGITE
(2) “Bidsgy” mREZ o
40
36
60 -36-12-3-2-2=5K; i; ------------- B
ARG R, oeeeeeeeeseeseeeees 64 ol
15 S SO N R R e
(3) ZAJAE “L” M “R” BIREGHA: ol L] . N
5 H 2 3 9 3
12 K, 36 K. ) oo




(365 K) FAUEIEE] U7 MR BRI

12130 365 - 202(5).
% WX (365 K) FAREILS] “IB” M “R”7 MERELN 292 K. oo 8 4
20. (84)) f#: (1) (Dn—=3; cereeeereeeeranaencns 92 4y
@n(n—_?’); ..................... 4 4y
2
(2) 3x6=18,

%xle(18—3) =135.

B BRI EIZEAT— HAE TR FT HEAE 135 AN, ceeeeeeeenennenennns 75
(3) BEULH (D). (2) ZIAHJBEREIAT. ceeeeerereeneeanees 8 4

Blhn: AR ST 20 AT, WA n AT S AR R 3T A4
G, WEENEST (n-3) MiE: PINZ AT ZEEERIT R, MERITHRIE SN

n(n-3)
o

Beepat 3L 18 4 FH%, 4 n=18 I,

18(12; D o

21. (94 fik: (1) N OE, OF 435 ~AOC 1 /COB [ fA-F4r4k,
FTPA ZEOC=/A0C=>30 =155 «weeereeeees 2 4%

/FOC=./BOC=x1002309=35%

FiLl /EOF=/EOC+./FOC=15%43550 ccceeerreeccnnneecnns 5 4%
(2) 503 ..................... 7 éj\
(3) ZEOF BUPEHRE 50° B 130° . weeveeveeerncrnncenne 99 (B —M 1

22, (1049 fif: (D WiHEIE FARFAH T x /08h, M, 12

180X = BOX+B0 X5 +seereresseeneenens 9 4%

fRIXA TR, 13 x=4

BRIL, WU SRR T 4 41, e 4%

(2) BEep R y 7B A ARER 300 K, HR¥EEE, 15

SR TERTE SR SRS 300 K, FIJ7FE: 80x10+80y =280y +300,
FRIXATTRE, 13 Yy =20 cevereeennnnees 6 43

S R TR SR AR 300 K, FIJ5FE: 80x10+80y +300 = 280y ,



JIXATTHR, #3 Y =51 e 8 4}
S RENL: T ZAIT 2800+ 280=10 A E KA, HRIREESK 300 K, BT RE:
80x10+80y +300 = 2800,

XA TR, 5 y=21.2

g5 LRTR, SRR 2.5 20 BPEl 5.5 2Rk 21. 25 S0 BRI AAHEE 300 K. «eeeeeeeeeeenes 10 4

(HH: FREHEEROHNSEER, RGHT MEE, WRFEMTHRESE, R
EAHE, BWXNET.)



